C:h Comparing Fractions to Decimals with Number Line  Name:

Usethe number lineto solve each problem. Answers
1) : . 3 2) : . 2
Which amount is larger, /7 or 0.23? Which amount is larger, /3 or 0.827 L
0 1 0 1
I | | | | | | | | | | | |l 2
1 1 T 1 1T 1T 1 1T 711 T 1 T 1 1 1T 1 1T 711 '
3
4.
3) , - 1 4) . . 4
Which amount islarger, /¢ or 0.21? Which amount islarger, /¢ or 0.77?
5.
0 1 0 1
g I | | | | | l
—r 1 T 1 T T 1 T 11 T 1T 1T 1 1 1T 1T 1T 1T 1]|6s6
7.
5) 6 6) 2 8
Which amount islarger, /5 or 0.73? Which amount islarger, 7, or 0.6?
0 1 0 1(®
"t F—tr—Tt—"
10.
7) - : 3 8) . . 1
Which amount is larger, /4 or 0.88? Which amount is larger, /2 or 0.697
0 1 0 1
I | | | | | | l
1 1 T 1 T 1 1 1T 711 T 1 T 1 1T 1 1T 11
. . 3 . . 3
9 Which amount islarger, /g or 0.19? 10) Which amount is larger, 7 or 0.35?
0 1 0 1
I N N I NN N N M I | | | | | l
1 1 T 1 & 1 1 1T 711 N N N B I IR E B B B
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ﬂh Comparing Fractions to Decimalswith Number Line Name.  Answer Key

Usethe number lineto solve each problem.

3
2 Which amount is larger, /7 or 0.23? 2)
i 2 3 4 5 8
c 7z 7 7 7 7 7 1
L | ol I R R
Ftotr————F+

10 .20 .30 .40 .50 .60 .70 .80 .90

. . 1
3 Which amount is larger, /10 0r 0.21? 4
1 2 3 4 5 6 7 8 9
O 70 70 70 70 0 10 10 10 10 1
N N R
—o———F—F—1—F+—"F+—+
10 20 30 40 50 .60 .70 .80 .90
. . 6
5) Which amount is larger, /7or 0.73? 6)
1 2 3 4 5 6
o v 7 7 7 7 7 1
\ | | | |
T
10 20 .30 40 50 .60 .70 .80 .90
7 ) . 3
) Which amount is larger, 7, or 0.88? 8
1 2 3
0 Z 7 4 1
| | | I
"t
10 20 30 .40 50 .60 .70 .80 .90
10)

1 2 3 4 5 6 7

. : 3
9 Which amount islarger, /g or 0.19?
0
I
I

3 8 8 8 8 88 8 1
r—-r—————1—1—"—

10 .20 .30 .40 .50 .60 .70 .80 .90

Answers
. ) 2 3
Which amount is larger, /3 or 0.82? L /7
1 2 '
0 3 3 1
F——TT—"T—"T%®—1 |2 0.82
10 20 .30 .40 50 .60 .70 .80 .90
3 0.21
4 0.77

. . 4
Which amount islarger, /¢ or 0.77?
1 2 3 4 5 5

0

5 6 6 5 6 1
| | | |
10— 6. 0.6
10 20 .30 .40 50 .60 .70 .80 .90
7 0.88
, 8 0.69
Which amount islarger, 7, or 0.6? 3
1 2 3 Q. 8
0 yy y y 1 3
L | | I
F—Tr—"T%—"17—7 Lo, 5

10 .20 .30 .40 .50 .60 .70 .80 .90

1
Which amount islarger, 7, or 0.69?
1
0 > 1
Fr—T—T—T% T

.10 .20 .30 .40 .50 .60 .70 .80 .90

, . 3
Which amount is larger, 7 or 0.35?

1 2 3 4 5
0O % & 5 ©® & 1
: | I | | h'I '# | II II | =

10 .20 .30 .40 .50 .60 .70 .80 .90
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